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(1) #ESM
B i H = 3.55 m
%+ H,= 2.35 m
ERETOHNL X1= 0.00 m
DY) b X,= 4.65 m
BEEO¥MEK o= 18.0 KN/m’
EEAE Q;= 10.0 KN/m’
HEhEME P = 0.0 KN
(LR E i = 0.3
BlmsMAl A S .
BEECofg X - 3 m
(2) SHAifiEOHRE
H’: H + H1
= 5.90 m
X= X1 + X2
= 4.65 m
x _ 46 —  0.788136
H+H, 590
2 2 X 2| —1
Iqg= 1+[H§HJ ﬁ?'[l{H+HJ]' tan [H)’r(HJ_%'[ H)-EHJ
I,= 0.431
qq:Ql : Iq
= 4.310 KN/m’
(3) WtmiEOHE
X' = X, -+ X,/ 2
= 2.325 m
x =% = 0.65493
H 3.55
w= 1+ ) -2 () e () -2 ()
I,= 0.485
qw:pL.Hl. IW
= 20.52 KN/m’
(4) BEHEfFEOBARE
H = H -+ H,
= 5.90 m
It =ﬁ( X' -H)+(@+X+H) In %}
I[:= 0.401
a.=P (1+1i) 1.,/ /H
= 0.000 KN/m’
(5) HARSE AT ff B2
o« By A e B O d,= 4.310 KN/m’
- TR OMBE d,= 20.516 KN/m’
[ 8y B B oD ar=0.000 KN/m*
At 24.826 KN/m’
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